Francis M. Gomez

Purchasing Agent



Frank J. Picozzi

Mayor

# City of Warwick

Purchasing Division 3275 Post Road Warwick, Rhode Island 02886 Tel (401) 738-2013 Fax (401) 737-2364

# Bid Minutes Wednesday, April 12, 2023

Bid2023-418 Purchase BCI Weapons Storage Lockers RE-BID

Bid2023-419 Acoustic Wall & Ceiling Panels for Interview Room RE-BID

Bid2023-420 Purchase Harley Davidson Cool Flow Fans

**Location:** The meeting was held at in Meeting Room 2

**Present:** Francis Gomez, Purchasing Agent

Jessica Lamprey, Bid Specialist

**Representatives:** None

All bids have been properly advertised. A Certification & Warrant Form must be included in each bid or the bid will not be accepted. Vendors are free to view all bids once they are opened. All bids will go to the departments for their review and recommendation.

The next council meetings are May 8, 2023 and May 22, 2023 at Warwick City Hall. The City Council meeting begins at 7:00 P.M. The Finance Committee meeting will be held at 5:00 P.M. The 5:00 P.M. meeting is when vendors are given the opportunity to speak.

Respectively submitted,

# Francis M. Gomez

Francis M. Gomez Purchasing Agent 0 Bids Received

# NO BIDS RECEIVED

# Bid2023-419 Acoustic Wall & Ceiling Panels for Interview Room RE-BID

• 1 Bid Received

Vibrasciences Inc. 186 N. Main St. Branford, CT 06405

Item	Description	Bid
1	Installation of acoustic wall panels	Included
2	Installation of acoustic ceiling material	Included
3	Removal & Replacement of existing screws	Included
4	Installation of weather stripping and door sweep (two doors)	Included
5	Repositioning of existing electrical outlets & light switch	Included
6	Additional materials & labor	Included
7	Total Cost (Items 1-6)	\$10,519.00

## **Notes:**

- 1. Price is valid for 30 days.
- 2. Approximate lead time is 4-5 weeks after drawings are approved

# **Bid2023-420 Purchase Harley Davidson Cool Flow Fans**

• 1 Bid Received

# Russ' Ocean State, Inc. Dba Russ' Ocean State Harley Davidson 35 Albany Road. Warwick, RI 02888

<u>Item</u>	Part Number	Description	Qty.	Price Per Unit	<b>Total Price</b>
1	Harley Davidson Part #26800128	Kit, Fan, Fairing W/MFD	4	\$319.95	\$1,279.80
2	Harley Davidson Part #26800152	Kit, Fan, Chassis	3	\$319.95	\$959.85
3	Harley Davidson Part #58002-09A	Kit, Fan, MID, AIR Deflector	3	\$97.95	\$293.85
4	Harley Davidson Part #69200173	Switch, Dash Panel, base	4	\$68.89	\$275.56
5	Harley Davidson Part #71400031	Switch, Dash- panel, SHRT SKRT, N	8	\$5.57	\$44.56
6	Labor	Labor: Model Year 2018 & 2023	2 Each = 4	\$120.00	\$480.00
7		Labor: Model Year 2015, 2011 PD Fans	3 Each = 9	\$120.00	\$1,080.00
8	Total				\$4,413.62 for all 7 motorcycles

### **Notes:**

- 1. The bid document does not include part #69200173, which is required to install part #26800128.
- 2. The per unit pricing does not make sense to total, as each unit does not take into account all of the parts and labor depending on the year manufactured. Thus, the total price for all 7 installations (\$4,413.62) divided by 7 (\$630.52) would be a more appropriate unit comparison.